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Q6. Choose the correct synonym for the word given below: 

Immature 
 

A. Childish B. Adult 

C. Mature D. Young 

 

Q7. Choose the correct antonym for the word given below: 

Fortunate 
 

A. Unlucky B. Wealthy 

C. Favour D. Blessed 

 

Q8. Choose the correct meaning for: On tenterhooks 
 

A. In happiness B. In a state of suspense and anxiety 

C. In bad mood D. Being irritable 

 

Q9. Find the grammatically correct sentence from the following options: 
 

A. Solomon was the wise of all men. B. Solomon was the wisest of all men. 

C. Solomon was the wiser of all men. D. Solomon was the wisest of all mans. 

 

Q10. Complete the sentence using correct option for each blank that best fits the meaning of the 

sentence as a whole. 

Tigers are _______, as one of them injured 5 people last week in a village. 
 

A. elegant B. dangerous 

C. careful D. fast 

 

Q11. Lothal, one of the ancient civilization centres is situated in which of these following 

states? 
 

A. Rajasthan B. Punjab 

C. Gujarat D. Haryana 
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Q11. प्राचीन सभ्यता के कें द्रों में से एक ह,ै लोथल, ननम्ननलनित में से नकस राज्य में नथथत ह?ै 
 

A. राजस्थान B. पंजाब 

C. गुजरात D. हररयाणा 

 

Q12. Who among the following is the first woman pilot of the Indian Navy? 
 

A. Lieutenant Shivangi B. Lieutenant General Puneeta Arora 

C. Padmavathy Bandopadhyay D. Avani Chaturvedi 

Q12. ननम्ननलनित में से भारतीय नौसेना की पहली मनहला पायलट कौन ह?ै 
 

A. लेफ्टिनेंि शिवांगी B. लेफ्टिनेंि जनरल पुनीता अरोडा 

C. पद्मावती बंदोपाध्याय D. अवनी चतुवेदी 

 

Q13. Brahmasarovar lake is situated in the district of ___________ in Haryana. 
 

A. Sonipat B. Panipat 

C. Karnal D. Kurukshetra 

Q13. ब्रह्मसरोवर झील हररयाणा के __________ निले में नथथत ह।ै 
 

A. सोनीपत B. पानीपत 

C. करनाल D. कुरुके्षत्र 

 

Q14. How many members are nominated by the President to Rajya Sabha? 
 

A. 15 B. 10 

C. 12 D. 14 

Q14. राष्ट्रपनत द्वारा राज्यसभा में नकतने सदथय मनोनीत नकए िाते हैं? 
 

A. 15 B. 10 

C. 12 D. 14 
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Q15. Which government body works on the Motto "Yato Dharmastato Jayah ?" 
 

A. Republic of India B. Central Bureau of Investigation 

C. Supreme Court of India D. Research and Analysis Wing 

Q15. नकस सरकारी संथथा का आदर्श वाक्य "यतो धमशथततो ियः" ह?ै 
 

A. गणतंत्र भारत B. कें द्रीय जांच ब्यूरो 

C. भारत का सवोच्च न्यायालय D. अनुसंधान और ववश्लेषण ववगं 

 

Q16. Maharishi Dayanand visited Haryana for the first time in __________ city. 
 

A. Rewari B. Sonipat 

C. Ambala D. Sirsa 

Q16. महनषश दयानंद ने पहली बार हररयाणा का दौरा __________ र्हर में नकया था। 
 

A. रेवाडी B. सोनीपत 

C. अंबाला D. शसरसा 

 

Q17. ____________ made a tomb after the death of Sheikh Chehli which is also known as Taj 

Mahal of Haryana. 
 

A. Shah Jahan B. Aurangzeb 

C. Humayun D. Dara Shukoh 

Q17. _________ ने र्ेि चेहली की मतृ्य ुके बाद एक मकबरा बनाया था, निसे हररयाणा का तािमहल भी कहा िाता ह।ै 
 

A. िाहजहााँ B. औरंगजेब 

C. हुमायू ं D. दारा िुकोह 

 

Q18. Who is the Power Minister of Haryana as on January 2020? 
 

A. Piyush Goyal B. Mallikarjun Kharge 

C. Suresh Prabhu D. Ranjit Singh Chautala 
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Q18. िनवरी 2020 को, हररयाणा के नबिली मंत्री कौन हैं? 
 

A. पीयूष गोयल B. मफ्ललकाजुनु खडगे 

C. सुरेि प्रभु D. रणजीत शसहं चौिाला 

 

Q19. How many MP's from Haryana have been included in Prime Minister's Cabinet 2019? 
 

A. 5 B. 3 

C. 2 D. 4 

Q19. हररयाणा के नकतन ेसांसद प्रधानमंत्री के मंनत्रमंडल 2019 में र्ानमल नकए गए हैं? 
 

A. 5 B. 3 

C. 2 D. 4 

 

Q20. Who among the following is popularly known as the Messiah of poor and farmers? 
 

A. Sir Chhotu Ram B. Fateh Singh 

C. Lala Hokum Chand Jain D. Noor Samand Khan 

Q20. नकसे गरीबों और नकसानों के मसीहा के रूप में लोकनप्रय प्राप्त ह?ै 
 

A. सर छोिू राम B. फतेह शसहं 

C. लाला हुकुम चंद जैन D. नूर समंद खान 

 

Q21. Who is the Science and Technology minister of Haryana as on January 2020? 
 

A. Rattan Lal Kataria B. Anil Vij 

C. Thawar Chand Gehlot D. Ramdas Athavale 

Q21. िनवरी 2020 को, हररयाणा में नवज्ञान और प्रौद्योनगकी मंत्री कौन हैं? 
 

A. रतन लाल किाररया B. अननल ववज 

C. थावर चंद गहलोत D. रामदास आठवले 
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Q22. Who is the Chief Electoral Officer of Haryana as on January 2020? 
 

A. Rajeev Ranjan B. Mr Anurag Agarwal 

C. Shri Karan Dev Kamboj D. Shri Vipul Geol 

Q22. िनवरी 2020 को, हररयाणा का मखु्य ननवाशचन अनधकारी कौन ह?ै 
 

A. राजीव रंजन B. श्री अनुराग अग्रवाल 

C. श्री करण देव काम्बोज D. श्री ववपुल गोयल 

 

Q23. Who is believed to be the first Hindi litterateur of Haryana? 
 

A. Sidda Chaurangi Nath B. Siddh Yograj Puranath 

C. Banbhatta D. Nath Sampraday 

Q23. हररयाणा का पहला नहदंी सानहत्यकार नकस ेमाना िाता ह?ै 
 

A. शसद्ध चौरंगी नाथ B. शसद्ध योगराज पूरानाथ 

C. बाणभट्ि D. नाथ सम्प्रदाय 

 

Q24. ________________ is the first National news paper printed in Haryana. 
 

A. Hariyani Tilak B. Hari Bhoomi 

C. Hariyana D. Jaat Samachar 

Q24. ______ हररयाणा से प्रकानर्त पहला राष्ट्रीय समाचार पत्र ह।ै 
 

A. हररयाणा नतलक B. हरर भूशम 

C. हररयाणा D. जाि समचार 

 

Q25. Who of the following was the first Sufi saint of Haryana? 
 

A. Manikraj B. Sundar Das 

C. Sheik Muhammad Turk D. Bhagwati 

Q25. ननम्ननलनित में से कौन हररयाणा के पहल ेसफूी संत थे? 
 

A. माणणक राज B. सुंदर दास 

C. िेख मुहम्मद तुकु D. भगवती 
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Q26. Who was the first litterateur to use Haryani language in Jain Poetry? 
 

A. Pushpadanta B. Shridhar Aparwal 

C. Maldev D. Jagat Rai 

Q26. िैन काव्य में हररयाणवी भाषा का प्रयोग करन ेवाले पहल ेसानहत्यकार कौन थे? 
 

A. पुष्पदंत B. श्रीधर अपवाुल 

C. मालदेव D. जगत राय 

 

Q27. Which airport in Haryana is used by Rajiv Gandhi National Centre for Aero sports? 
 

A. Hisar airport B. Cargo airport 

C. Gurugram airport D. Narnaul airport 

Q27. हररयाणा के नकस हवाई अड्डे का उपयोग रािीव गांधी नेर्नल सेंटर द्वारा एयरो थपोट्शस के नलए नकया िाता ह?ै 
 

A. हहसार एयरपोिु B. कागो एयरपोिु 

C. गुरुग्राम एयरपोिु D. नारनौल एयरपोिु 

 

Q28. How many airports are there in Haryana? 
 

A. 6 B. 7 

C. 4 D. 3 

Q28. हररयाणा में नकतन ेहवाई अड्डे हैं? 
 

A. 6 B. 7 

C. 4 D. 3 

 

Q29. The __________ river originates from the Morni hills of Shivalik. 
 

A. Tangri B. Chautang 

C. Ghaggar D. Raka 
 
 
 

 



 
Adv. No. 11/2019, Cat No. 02, Assistant Linemen (ALM) DHBVNL DEPARTMENT, HARYANA 

  Evening Session 
 

August 24, 2020  Page 8 of 26 
 

Q29. ________ नदी का उद्गम नर्वानलक की मोरनी पहाऩियों से होता ह।ै 
 

A. िंगरी B. चौिंग 

C. घग्गर D. राका 

 

Q30. Which is the largest constituency in terms of electorate in Haryana? 
 

A. Gurugram B. Sirsa 

C. Sonipat D. Ambala 

Q30. हररयाणा में मतदाताओ ंके नलहाि से सबस ेब़िा ननवाशचन के्षत्र कौन सा ह?ै 
 

A. गुरुग्राम B. शसरसा 

C. सोनीपत D. अंबाला 

 

Q31. When was the Ambala Air force station built? 
 

A. 1947 B. 1948 

C. 1958 D. 1957 

Q31. अम्बाला वाय ुसेना थटेर्न कब बनाया गया था? 
 

A. 1947 B. 1948 

C. 1958 D. 1957 

 

Q32. Who founded the Zamindar league in 1923? 
 

A. Sir Chhotu Ram B. Ram Singh Jakhar 

C. Pandit Shri Ram Sharma D. Banarasi Das 

Q32. 1923 में िमींदार लीग की थथापना नकसने की? 
 

A. सर छोिू राम B. राम शसहं जाखड 

C. पंडित श्री राम िमा ु D. बनारसी दास 
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Q33. Which wild life sanctuary is located in Rewari district of Haryana? 
 

A. Bhindawas B. Kalesar 

C. Khaparwas D. Nahar 

Q33. कौन सा वन्य अभयारण्य हररयाणा के रेवा़िी निले में नथथत ह?ै 
 

A. शभिंवास B. कलेसर 

C. खापरवास D. नाहर 

 

Q34. Haryana government framed its forest policy in the year __________. 
 

A. 2004 B. 2005 

C. 2006 D. 2003 

Q34. हररयाणा सरकार ने अपनी वन नीनत वषश __________ में तैयार की थी। 
 

A. 2004 B. 2005 

C. 2006 D. 2003 

 

Q35. Which is the largest wildlife sanctuary of Haryana in terms of area? 
 

A. Bir Shikargarh Wildlife Sanctuary B. Kalesar Wildlife Sanctuary 

C. Abubshahar Wildlife Sanctuary D. Khol Hi-Raitan Wildlife Sanctuary 

Q35. के्षत्रफल की दृनि से हररयाणा का सबस ेब़िा वन्यिीव अभ्यारण्य कौन सा ह?ै 
 

A. बीर शिकारगढ़ वन्यजीव अभयारण्य B. कलेसर वन्यजीव अभयारण्य 

C. अबूबिहर वन्यजीव अभयारण्य D. खोल ही-रायतान वन्यजीव अभयारण्य 

 

Q36. _______________ performs the task of allocation and deallocation of memory space to 

program. 
 

A. Process Management B. Memory Management 

C. Device management D. Secondary storage management 
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Q36. _______ कायशक्रम के नलए मेमोरी थपेस के आवंटन करन ेऔर आबंटन रद्द करन ेका कायश करता ह।ै 
 

A. प्रोसेस मैनेजमेंि B. मेमोरी मैनेजमेंि 

C. डिवाइस मैनेजमेंि D. सेकें िरी स्िोरेज मैनेजमेंि 

 

Q37. Who invented looping in computer programming? 
 

A. Lady Ada Lovelace B. John Atanstoff 

C. John Napier D. Maurice V Wilkes 

Q37. कंप्यटूर प्रोग्रानमंग में लूनपंग का आनवष्ट्कार नकसन ेनकया? 
 

A. लेिी अदा लवलेस B. जॉन एिनस्िॉफ़ 

C. जॉन नेवपयर D. मौररस वी ववलकेस 

 

Q38. _____________________ device detects alpha numeric characters printed or written in a 

paper. 
 

A. Bar code reader B. Optical character reader 

C. Plotter D. Scanner 

Q38. ______उपकरण नकसी पेपर में मुनद्रत या नलिे गए अक्षरांकीय अक्षरों का पता लगाता ह।ै 
 

A. बारकोि रीिर B. ऑफ्टिकल कैरेक्िर रीिर 

C. टलॉिर D. स्कैनर 

 

Q39. ____________ filter scans the context of the e-mail when it looks for words or character 

strings that will identify the e-mail as spam. 
 

A. Navies Bayes spam B. Junk Tags 

C. Poisoning D. Directory harvesting 

Q39. _______ऩिल्टर ई-मेल के संदभश को थकैन तब करता ह ैिब वह ऐसे र्ब्दों या अक्षरों की श्रंिलाओ ंकी तलार् करता ह ैिो ई-मेल को 

थपैम के रूप में पहचानेंगे। 
 

A. नेवीज ब ैस्पैम B. जंक िैग्स 

C. पोइसननगं D. िायरेक्िरी हावेफ्स्िंग 
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Q40. Choose the term which will continue the following series: 

F2I, H4L, J7O , L11R 
 

A. N16T B. N17V 

C. N16U D. N15U 

Q40. उस र्ब्द का चयन करें िो श्रृंिला को आगे िारी रिेगा: 

F2I, H4L, J7O , L11R 
 

A. N16T B. N17V 

C. N16U D. N15U 

 

Q41. In a certain code 'TIGER' is written as UJHFS. How is 'MANGO' written in that code? 
 

A. NBOHP B. NBOIP 

C. NCPIQ D. NZMLN 

Q41. एक नननित कोड में ‘TIGER’ को UJHFS नलिा गया ह।ै तो ‘MANGO’ को उसी कोड में कैसे नलिा िायेगा? 
 

A. NBOHP B. NBOIP 

C. NCPIQ D. NZMLN 

 

Q42. Find the odd man out: 
 

A. 90, 135 B. 54, 81 

C. 120, 160 D. 108, 162 

Q42. नवषम नवकल्प की पहचान करें: 
 

A. 90, 135 B. 54, 81 

C. 120, 160 D. 108, 162 

 

Q43. Complete the analogy: 

KIND : NLQG :: CAPE : ? 
 

A. FZOD B. FDSH 

C. FSDH D. FCQF 
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Q43. उपमा को पणूश कीनिये: 

KIND : NLQG :: CAPE : ? 
 

A. FZOD B. FDSH 

C. FSDH D. FCQF 

 

Q44. On selling a wooden door for Rs.2208, Suresh loses 8%. For how much did he purchase 

it? 
 

A. Rs.1800 B. Rs.2100 

C. Rs.2400 D. Rs.3200 

Q44. लक़िी के दरवािे को 2208 रूपए में बेचने पर, सरेुर् 8% की हानन उठाता ह।ै उसने इसे नकतन ेमें िरीदा था? 
 

A. 1800 रूपए B. 2100 रूपए 

C. 2400 रूपए D. 3200 रूपए 

 

Q45. Simplify: 

1723 + 551  19 - 12 * 32 
 

A. 1301 B. 1571 

C. 1421 D. 1368 

Q45. सरक कीनिये: 

1723 + 551  19 – 12 * 32 
 

A. 1301 B. 1571 

C. 1421 D. 1368 

 

Q46. What percent of 2kg is 50g? 
 

A. 25% B. 0.25% 

C. 12.5% D. 2.5% 

Q46. 50 ग्राम 2 नकलोग्राम का नकतने प्रनतर्त ह?ै 
 

A. 25% B. 0.25% 

C. 12.5% D. 2.5% 
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Q47. If a car travels 111km in 3 hours and a train travels 370 km in 5 hours, then the ratio of 

their speed is: 
 

A. 2 : 1 B. 1 : 2 

C. 3 : 2 D. 2 : 3 

Q47. यनद कोई कार 3 घंटे में 111 नक.मी. की दरूी तय करती ह ैऔर एक रेन 5 घंटे में 370 नक.मी की दरूी तय करती है, तो उनकी गनत का 

अनपुात ह:ै 
 

A. 2 : 1 B. 1 : 2 

C. 3 : 2 D. 2 : 3 

 

Q48. Through solar cells, solar energy is converted into ______________ energy. 
 

A. wind B. nuclear 

C. electrical D. light 

Q48. सौर कोनर्काओ ंके माध्यम से, सौर ऊिाश को ______________ ऊिाश में पररवनतशत नकया िाता ह।ै 
 

A. वायु B. नाशभकीय 

C. ववद्युतीय D. प्रकाि 

 

Q49. _____________ solutions has two components. 
 

A. Binary B. Ternary 

C. Super D. Bromine 

Q49. _________ समाधान के दो घटक हैं। 
 

A. द्ववआधारी B. त्रत्रगारी 

C. सुपर D. ब्रोशमन 

 

Q50. Instruction: From the following parts of a flower, find out the odd one. 

Ovary, Style, Anther, Stigma 
 

A. Stigma B. Anther 

C. Style D. Ovary 
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Q50. निरे्दश: फूल के ननम्ननलनित भागों से नवषम भाग का पता लगाएं। 

ओवरी, थटाइल, एंथर, नथटग्मा 
 

A. फ्स्िग्मा B. एंथर 

C. स्िाइल D. ओवरी 

 

Q51. Which of the following will develop the maximum power by a dc motor? 
 

A. When the back emf is double the applied 
voltage 

B. When the back emf is half the applied voltage 

C. When the back emf is equal to the applied 
voltage 

D. When the back emf is zero 

Q51. ननम्ननलनित में से कौन सा एक DC मोटर द्वारा अनधकतम र्नि उत्पन्न करेगा? 
 

A. जब पाश्व ुemf प्रयुक्त वोलिेज स ेदोगुना है B. जब पाश्व ुemf प्रयुक्त वोलिेज का आधा है 

C. जब पाश्व ुemf प्रयुक्त वोलिेज के बराबर है D. जब पाश्व ुemf िून्य है 

 

Q52. Which of the following defines the relation between the back emf and current in a DC 

motor? 
 

A. When back emf increases current increases B. When back emf decreases current increases 

C. When back emf increases current is constant D. When back emf decreases current decreases 

Q52. ननम्ननलनित में से कौन सा एक DC मोटर में पार्श्श ई एम एफ और धारा के बीच के संबंध को पररभानषत करता ह?ै 
 

A. जब पाश्व ुemf में संवदृ्धध होती है तो धारा में भी संवदृ्धध 

होती है 
B. जब पाश्व ुemf में ह्रास होता है तो धारा में संवदृ्धध होती है 

C. जब पाश्व ुemf में संवदृ्धध होती है तो धारा फ्स्थर रहती है D. जब पाश्व ुemf में ह्रास होता है तो धारा में भी ह्रास होता है 

 

Q53. Which of the following relations holds true for DC motors? 
 

A. Back emf ∝ motor speed B. Back emf ∝ 1/motor speed 

C. Back emf ∝ 1/(motor speed)3 D. Back emf + motor speed = 0 
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Q53. ननम्ननलनित में से कौन सा संबंध डीसी मोटसश के बारे में सत्य ह?ै 
 

A. पाश्व ुemf ∝ मोिर-गनत B. पाश्व ुemf ∝ 1/ मोिर-गनत 

C. पाश्व ुemf ∝ 1/(मोिर-गनत)3 D. पाश्व ुemf + मोिर-गनत = 0 

 

Q54. What is the back emf E of the Shunt DC motor functioning with a terminal Voltage of V 

and Armature current I and Armature resistance R? 
 

A. E = V - IR B. E = V + IR 

C. E = IR/V D. E = V/IR 

Q54. एक रं्ट DC मोटर िो टनमशनल वोल्टेि V, आमेचर धारा I आमेचर प्रनतरोध R के साथ कायशर्ील ह ैउसका पार्श्श ई एम एफ क्या ह?ै 
 

A. E = V - IR B. E = V + IR 

C. E = IR/V D. E = V/IR 

 

Q55. Which of the following equations define the functioning of the synchronous machines? 
 

A. F = P*n/120 B. F = 120/ P * n 

C. F = P / n * 120 D. F = P + n /120 

Q55. ननम्ननलनित में से कौन सा समीकरण तुल्यकाली मर्ीनों की कायश पद्धनत को पररभानषत करता ह?ै 
 

A. F = P*n/120 B. F = 120/ P * n 

C. F = P / n * 120 D. F = P + n /120 

 

Q56. Which of the following will happen due to an overexcited synchronous motor? 
 

A. The machine draws a leading power factor 

current. 

B. The machine supplies a leading power factor 

current. 

C. The machine draws a lagging power factor 
current. 

D. The machine supplies a lagging power factor 
current. 

Q56. ननम्ननलनित में से कौन सा एक अनतउत्सानहत तुल्यकाली मोटर के कारण घनटत होगा? 
 

A. मिीन एक अग्र िफ्क्त करक धारा को खींचती है। B. मिीन एक अग्र िफ्क्त करक धारा की आपूनत ुकरती है। 

C. मिीन एक सुस्त िफ्क्त करक धारा को खींचती है। D. मिीन एक सुस्त िफ्क्त करक धारा की आपूनत ुकरती है। 
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Q57. The maximum power developed in a cylindrical synchronous machine is at a load angle of 

____ . 
 

A. 180o B. 120o 

C. 45o D. 90o 

Q57. बेलनाकार तुल्यकाली मर्ीन में नवकनसत अनधकतम र्नि ____ के भार कोण पर होती ह।ै 
 

A. 180o B. 120o 

C. 45o D. 90o 

 

Q58. Which of the following wiring systems is the most common method of wiring in the 

residential building, the safest and ensures a beautiful appearance? 
 

A. Batten wiring system B. Cleat wiring system 

C. Concealed Conduit wiring systems D. Casing and capping wiring system 

Q58. ननम्ननलनित में से कौन सी तार प्रणाली आवासीय भवन में वायररंग का सबसे आम, सबस ेसरुनक्षत तरीका ह ैतथा एक सुंदर प्रतीनत सनुननित 

करता ह?ै 
 

A. बैिन तार प्रणाली B. क्लीि तार प्रणाली 

C. भीतरी वाहक नली तार प्रणाली D. केशसगं और कैवपगं तार प्रणाली 

 

Q59. Which of the following types of wires are also known by the brand name Romex? 
 

A. Triplex Wires B. Panel Feed Wires 

C. Single Strand Wires D. Non-Metallic Sheathed Wires 

Q59. ननम्ननलनित में से नकस प्रकार के तारों को रोमेक्स ब्रांड नाम से भी िाना िाता ह?ै 
 

A. नतपरती तार B. पैनल फ़ीि तार 

C. शसगंल स्रैंि तार D. गैर-धाफ्ववक आच्छाहदत तार 

 

Q60. An individual wire is labeled for insulation made of synthetic polymer, high heat 

resistance and has nylon coating for resistance to gasoline. What will be the label on the 

wires? 
 

A. THN B. THHN 

C. XHHN D. XTHN 
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Q60. एक तार, संशे्लषी बहुलक से बने रोधन से लेबल नकया हुआ, उच्च उष्ट्मारोधी और गैसोलीन प्रनतरोध के नलए नायलॉन नवलपेन यिु ह।ै तारों 

पर क्या लेबल होगा? 
 

A. THN B. THHN 

C. XHHN D. XTHN 

 

Q61. Which of the following equations define the unit of luminous flux, lumens? 
 

A. Lumens = Candle power + Solid angle B. Lumens = Candle power x Solid angle 

C. Lumens = Candle power/ Solid angle D. Lumens = Candle power - Solid angle 

Q61. ननम्ननलनित में से कौन सा समीकरण लनूमनॉस फ्लक्स की इकाई, लमेुन को पररभानषत करता ह?ै 
 

A. लुमेंस = कैं िल िफ्क्त + ठोस कोण B. लुमेंस = कैं िल िफ्क्त x ठोस कोण 

C. लुमेंस = कैं िल िफ्क्त / ठोस कोण D. लुमेंस = कैं िल िफ्क्त - ठोस कोण 

 

Q62. Which of the following options define the cosine law of illuminance? 
 

A. E = I/d2cos  B. E = I/dcos  

C. E = d/I2cos  D. E = Icos  

Q62. ननम्ननलनित में से कौन सा नवकल्प प्रदीपन्त घनत्व के कोसाइन ननयम को पररभानषत करता ह?ै 
 

A. E = I/d2cos  B. E = I/dcos  

C. E = d/I2cos  D. E = Icos  

 

Q63. The mean or average of the candle power in all planes is known as 

___________________. 
 

A. Mean horizontal candle power (MHCP) B. Mean semi-spherical candle power (MHSCP) 

C. Mean spherical candle power (MSCP) D. Illuminance (ILUM) 

Q63. सभी समतलों में कैं डल र्नि के औसत को _________ के रूप में िाना िाता ह।ै 
 

A. औसत कै्षनतज कैं िल िफ्क्त (MHCP) B. औसत अध-ुगोलाकार कैं िल िफ्क्त (MHSCP) 

C. औसत गोलाकार कैं िल िफ्क्त (MSCP) D. प्रदीफ्टतत घनवव (ILUM) 
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Q64. Which of the following is considered as an operational cost for a power system? 
 

A. Fuel Cost B. Insurance 

C. Initial cost D. Taxes and Interest 

Q64. ननम्ननलनित में से नकसे र्नि प्रणाली की पररचालन लागत के रूप में माना िाता ह?ै 
 

A. ईंधन की लागत B. बीमा 

C. आरंशभक लागत D. कर और ब्याज 

 

Q65. Tariff on electrical energy where the consumer is charged according to his maximum 

demand and energy consumption is expressed as z = a + by is known as 

_______________________. 
 

A. Doherty rate B. Flat demand rate 

C. Straight meter rate D. Hopkinson demand rate 

Q65. िहााँ उपभोिा को नवद्यतु ऊिाश पर र्लु्क उसकी अनधकतम मांग और उिाश की िपत के अनसुार प्रभाररत नकया िाता ह,ै तथा निसे z = 

a+by के रूप में व्यि नकया िाता है, यज़ू _____________ के रूप में िाना िाता ह।ै 
 

A. िोहिी दर B. सपाि मांग दर 

C. सीधा मीिर दर D. हॉपककंसन मांग दर 

 

Q66. Which of the following features do not relate to a Diesel Engine power system? 
 

A. Employs an injector B. Occupies more space 

C. Power is produced by spark ignition D. Heavy in weight 

Q66. ननम्ननलनित में से कौन सी नवरे्षताएं डीिल इिंन उिाश प्रणाली से संबंनधत नहीं हैं? 
 

A. इंजेक्िर ननयोफ्जत करता है B. ज्यादा जगह घेरता है 

C. स्पाकु इफ्ग्निन से उजाु का उवपादन होता है D. वजन में भारी होता है 

 

Q67. The typical value of α, (the current gain parameter) in the transistor which is the ratio of 

collector current to emitter current is in the range of _____ . 
 

A. 0.95 to 0.99 B. 20 to 500 

C. 0.59 to 1 D. 20 to 100 
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Q67. रांनिथटर में α, (धारा लनब्ध प्रचाल) का नवनर्ि मान, िो संग्राहक धारा का उत्सिशक धारा में एनमटर अनपुात ह ै_____ की सीमा में 

होता ह।ै 
 

A. 0.95 to 0.99 B. 20 to 500 

C. 0.59 to 1 D. 20 to 100 

 

Q68. 

 
The above image represents ______. 

Note: B - Base, C - Collector, E - Emitter 
 

A. NPN Transistor B. PNP Transistor 

C. MOSFET D. Operational Amplifier 

Q68. 

 
उपरोि छनव ______ का वणशन करती ह।ै 

Note: B - Base, C - Collector, E - Emitter 
 

A. NPN रांफ्जस्िर B. PNP रांफ्जस्िर 

C. MOSFET D. Operational प्रवधकु 

 

Q69. Input and output quantities in Field Effect Transistor (FET) are non-linearly related due to 

squared term in _________. 
 

A. John Bardeen equation B. Thevenin's theorem 

C. Shockley's equation D. Kirchhoff's Current Law 



 
Adv. No. 11/2019, Cat No. 02, Assistant Linemen (ALM) DHBVNL DEPARTMENT, HARYANA 

  Evening Session 
 

August 24, 2020  Page 20 of 26 
 

Q69. के्षत्र प्रभावी रांनिथटर (FET) में इनपुट और आउटपटु मात्रा _________ में वनगशक अवनध के कारण अरैनिक रूप से संबंनधत हैं। 
 

A. जॉन बािीन समीकरण B. थेवेननन का प्रमेय 

C. िॉक्ले समीकरण D. ककरचॉफ के धारा के ननयम 

 

Q70. What is the unit of electrical resistance? 
 

A. Ohm B. Volt 

C. Henry D. Watt 

Q70. नवद्यतु प्रनतरोध की इकाई क्या ह?ै 
 

A. ओह्म B. वोलि 

C. हेनरी D. वॉि 

 

Q71. In Amplifier, the slew rate is expressed as _______. 
 

A. I/s B. V/ s 

C. R/s D. V 

Q71. प्रवधशक में संघणुशन दर को ____________के रूप में व्यि नकया िाता ह।ै 
 

A. I/s B. V/ s 

C. R/s D. V 

 

Q72. The "Forward Biased Condition" in diode is ______ . 
 

A. Anode connected to the positive terminal and 
cathode connected to negative terminal of supply 

B. Anode connected to the negative terminal and 
cathode connected to positive terminal of supply 

C. Both anode and cathode are connected to 
positive terminal of supply 

D. Both anode and cathode are connected to 
negative terminal of supply 

Q72. डायोड में "फॉरवडश बायथड अवथथा" ह ैिहााँ _________। 
 

A. एनोि आपूनत ुके धनावमक िशमनुल तथा कैथोि आपूनत ुके 

ऋणावमक िशमनुल से जुडा हुआ होता है 
B. एनोि आपूनत ुके ऋणावमक िशमनुल तथा कैथोि आपूनत ुके 

धनावमक िशमनुल से जुडा हुआ होता है 

C. एनोि और कैथोि दोनों आपूनत ुके धनावमक िशमनुल स ेजुड े
होते हैं 

D. एनोि और कैथोि दोनों आपूनत ुके ऋणावमक िशमनुल से जुड े
होते हैं 
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Q73. For an op-amp, CMRR=103 and differential gain Ad=103.Determine the common mode 

Acm gain of the op-amp? 
 

A. 1 B. 0.1 

C. 10 D. 1000 

Q73. Op-amp के नलए, CMRR=103 और अंतरी लनब्ध Ad=103 ह।ै op-amp के कॉमन मोड Acm लनब्ध का ननधाशरण करें? 
 

A. 1 B. 0.1 

C. 10 D. 1000 

 

Q74. _____ coupling network uses inductance and capacitance as coupling elements. 
 

A. Resistance-Capacitance Coupling B. Transformer Coupling 

C. Direct Coupling D. Impedance Coupling Network 

Q74. _____ नेटवकश  प्रेरकत्व और धाररता को यगु्मन तत्वों के रूप में उपयोग करता ह।ै 
 

A. प्रनतरोधी-धारतीय-युग्मन B. रांसफामरु युग्मन 

C. प्रवयक्ष युग्मन D. प्रनतबाधा युग्मन 

 

Q75. R-C phase shift oscillator and Wein bridge oscillator are the commonly used circuits for 

generating ________ waveform of a required frequency. 
 

A. sine B. negative 

C. cosine D. both sine and cosine 

Q75. R-C कला नवथथापन दोनलत्र और वेन नब्रि दोनलत्र आपेनक्षत आवनृि की ________ तरंग उत्पन्न करन ेके नलए आमतौर पर उपयोग 

नकए िाने वाले पररपथ हैं। 
 

A. साइन B. ऋणावमक 

C. कोसाइन D. दोनों साइन और कोसाइन 

 

Q76. Which electrical network produces a phase lag at one frequency region and a phase lead at 

another frequency region? 
 

A. Lead compensator B. Lag compensator 

C. Lead Lag network D. RC Feedback Network 
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Q76. कौन सा नवद्यतु नेटवकश  एक आवनृि के्षत्र में कला पिता और दसुरे आवनृि के्षत्र में कला अग्रता उत्पन्न करता ह?ै 
 

A. अग्रता क्षनतपूरक B. पश्चता क्षनतपूरक 

C. अग्रता पश्चता नेिवकु D. RC प्रनतकिया नेिवकु 

 

Q77. Which of the following statements BEST describes the Saw Tooth Generator? 
 

A. Non-Sinusoidal and Rectangular waveform, 
where the waveform increases from zero, reaches 
maximum and drops to zero 

B. Non-sinusoidal waveform, where the waveform 
increases from zero, reaches maximum and drops 
to zero 

C. Sinusoidal waveform, where the waveform 
increases from zero, reaches maximum and drops 
to zero 

D. Sinusoidal and Square waveform. where the 
waveform increases from zero, reaches maximum 
and drops to zero 

Q77. ननम्ननलनित में से कौन सा कथन आरादंती िननत्र को सबस ेउिम वणशन करता ह?ै 
 

A. गैर-ज्याविीय और आयताकार तरंगरूप, जहां तरंगरूप िून्य 

से बढ़कर उच्चतम स्तर तक पहंुच जाती है और कफर िून्य तक 

धगर जाती है 

B. गैर-ज्याविीय तरंगरूप, जहां तरंगरूप िून्य से बढ़कर 
उच्चतम स्तर तक पहंुच जाती है और कफर िून्य तक धगर जाती है 

C. ज्याविीय तरंगरूप, जहां तरंगरूप िून्य से बढ़कर उच्चतम 

स्तर तक पहंुच जाती है और कफर िून्य तक धगर जाती है 
D. ज्याविीय और वगीय तरंगरूप। जहां तरंगरूप िून्य से बढ़कर 
उच्चतम स्तर तक पहंुच जाती है और कफर िून्य तक धगर जाती है 

 

Q78. The passive filter is made up of passive elements like ______ . 
 

A. Operational Amplifier B. FET 

C. Transistor D. Capacitors 

Q78. नननष्ट्क्रय ऩिल्टर नननष्ट्क्रय तत्वों से बना होता ह ैिैस े______। 
 

A. संकारक प्रवधकु B. ऍफ़ ई िी (FET) 

C. रांफ्जस्िर D. संधाररत्र 

 

Q79. ______ gives an alarm when faults happen and is installed in oil immersed transformers. 
 

A. Hybrid Relay B. Buchholz Relay 

C. Latching Relay D. Non-Latching Relay 
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Q79. _____ दोष होन ेपर एक अलामश देता ह ैऔर तेल में डूबे हुए रांसफामशर में थथानपत नकया िाता ह।ै 
 

A. हाइत्रब्रि ररले B. बुखोज़ ररले 

C. लैधचगं ररले D. नॉन-लैधचगं ररले 

 

Q80. In digital relay, the ON and OFF state is represented in binary numbers as ___ and ___ 

respectively. 
 

A. 0, 1 B. 1, 0 

C. 0,0 D. 1, 1 

Q80. अंकीय ररले में, ON और OFF अवथथा को नद्वआधारी संख्या क्रमर्ः___ और ___ के रूप में दर्ाशया िाता ह।ै 
 

A. 0, 1 B. 1, 0 

C. 0,0 D. 1, 1 

 

Q81. Pick the right way to refer to the no load saturation characteristics or magnetic 

characteristics or Open Circuit characteristics of a DC generator. 
 

A. E/Ia B. E0/If 

C. V/I D. E/I 

Q81. DC िनरेटर की अभाररत नवरे्षताओ,ं चुंबकीय नवरे्षताओ ंअथवा िलुी पररपथ नवरे्षताओ ंको संदनभशत करन ेके सही तरीके का चयन 

करें। 
 

A. E/Ia B. E0/If 

C. V/I D. E/I 

 

Q82. Series wound Generator, shunt Generator and compound Generator are examples of 

________ DC generator. 
 

A. Self-excited B. Permanent Magnet 

C. Separately excited D. Configuration 

Q82. श्रृंिला कंुडनलत िननत्र, रं्ट िननत्र और यौनगक/नपंड िननत्र ________ DC िनरेटर के उदाहरण हैं। 
 

A. स्वोत्तेफ्जत B. स्थायी चुंबक 

C. प्रथक-उत्तेफ्जत D. अशभववन्यास 
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Q83. According to modern electron theory, an atom is made up of proton, neutron and electron. 

Among 3 elements ___________ is considered to be neutral in nature (i.e) contains no 

charge ? 
 

A. Neutrons B. Protons 

C. Electrons D. Both Neurons and Protons 

Q83. आधनुनक इलेक्रॉन के नसद्धांत के अनसुार, एक परमाण ुप्रोटॉन, न्यरूॉन और इलेक्रॉन से बना होता ह।ै 3 तत्वों में से ___________ 

को ननरावेर्ी माना िाता ह ै(यानी) इसमें कोई आवेर् नहीं होता ह?ै 
 

A. न्यूरॉन B. प्रोिान 

C. इलेक्रॉन D. दोनों न्यूरॉन और प्रोिॉन 

 

Q84. The atom Silicon contains ___________ number of electrons. 
 

A. 5 B. 7 

C. 12 D. 14 

Q84. परमाण ुनसनलकॉन में इलेक्रॉनों की संख्या ___________ होती ह।ै 
 

A. 5 B. 7 

C. 12 D. 14 

 

Q85. The primary cell such as dry cell contains a rod in the middle which acts as a cathode that 

is surrounded by a powdered mixture of ________ and _________ chemicals. 
 

A. Carbon, Manganese dioxide B. Mercury amalgam, Potassium hydroxide 

C. Zinc, Potassium hydroxide D. Potassium hydroxide, Manganese dioxide 

Q85. प्राथनमक सेल, िैस ेर्ुष्ट्क सेल, निसमे बीच में एक रॉड होता ह ैिो कैथोड के रूप में कायश करता ह,ै और यह ___ तथा ___रसायनों के 

पाउडर नमश्रण से नघरा होता ह।ै 
 

A. काबनु, मैंगनीज िाइऑक्साइि B. पारा-शमश्रण, पोिेशियम हाइड्रॉक्साइि 

C. फ्जंक, पोिेशियम हाइड्रॉक्साइि D. पोिेशियम हाइड्रॉक्साइि, मैंगनीज िाइऑक्साइि 
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Q86. A point at which two or more circuit components like resistors, capacitor intersect is 

known as: 
 

A. Branch B. Node 

C. Loop D. Mesh 

Q86. एक नबंद ुनिस पर दो या दो से अनधक पररपथ घटक िैस ेप्रनतरोधक, संधाररत्र प्रनतच्छेदन होता ह,ै उस_े________ के रूप में िाना 

िाता ह।ै 
 

A. िाखा B. नोि 

C. पाि D. जाल 

 

Q87. _____________is an electrical network type which does not follow the law of 

superposition and also the circuit's parameter values change depending on various factors 

like current, voltage. 
 

A. Bilateral Network B. Non Linear Network 

C. Active Network D. Passive Network 

Q87. ______ एक नवद्यतु नेटवकश  का प्रकार ह,ै िो अध्यारोपण के ननयम का पालन नहीं करता ह ैऔर साथ ही पररपथ प्राचलों के मान नवनभन्न 

कारकों िैस ेधारा वोल्टेि इत्यादी के आधार पर बदलते रहते ह।ै 
 

A. द्ववपक्षीय नेिवकु B. अरैणखक नेिवकु 

C. सकिय नेिवकु D. ननफ्ष्िय नेिवकु 

 

Q88. _____________ symbol is used for representing dependent energy sources or controlled 

voltage source that is used as an equivalent electrical source for many electronic devices . 
 

A. Square B. Circle 

C. Diamond D. Rectangle 

Q88. ____ नचन्ह का उपयोग आनश्रत ऊिाश स्रोतों अथवा ननयंनत्रत वोल्टेि स्रोत, निनका उपयोग कई नवद्यतु् उपकरणों के नलए एक तुल्य नवद्यतु 

स्रोत के रूप में होता ह,ै उनका प्रनतनननधत्व करन ेके नलए नकया िाता ह।ै 
 

A. वगु B. वतृ्त 

C. हीरा D. आयत 
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Q89. _____________ is the formula used in Ohm's law which gives the relationship between 

the potential difference, the current and the resistance. 
 

A. I=V/2R in Amperes B. R=I*V in Amperes 

C. I=V*2R in Amperes D. I=V/R in Amperes 

Q89. _______ ओह्म के ननयम में प्रयिु सतू्र ह,ै िो नवभव अंतर, धारा तथा प्रनतरोध के बीच संबंध दर्ाशता ह।ै 
 

A. I=V/2R ऐफ्म्पयर में B. R=I*V ऐफ्म्पयर में 

C. I=V*2R ऐफ्म्पयर में D. I=V/R ऐफ्म्पयर में 

 

Q90. 1 Tesla = ___ Weber/m2 
 

A. 1 B. 10 

C. 0.1 D. 100 

Q90. 1 टेथला = ___ वेबर/m2 
 

A. 1 B. 10 

C. 0.1 D. 100 

 


